e,

GREEN LEAF
i 2 18

GREEN LEAF
& 5 15

: | B&MREAHASH
e Linear Bearing
Transmission Assembly

oD

#1D1/na mic F#Static Weight
Co N Co N

Part Number

g KH-0622 400 239

& KH-0824 8 15 24 435 280 12

; KH-1026 10 17 26 500 370 14.5

592 KH-1228 12 19 28 620 510 18.5

E KH-1428 14 21 28 620 520 20.5

° KH-1630 16 24 30 800 620 27.5
KH-2030 20 28 30 950 790 32.5
KH-2540 25 35 40 1990 1670 66
KH-3050 30 40 50 2800 2700 95
KH-4060 40 52 60 4400 4450 182
KH-5070 50 62 70 5500 6300 252

&S FRixZType number format:

KH 20 30 PP
KH 2 B £ %
KH-Mini(Pressing Bush)Linear Bearing T P-g&# PP-M&EH
P=seal one side.PP=seal both sides
WIRE# A Shaft Diameter KERT Length Dimension www.zjgreenleaf.com

65 www.zjgreenleaf.com




G < J—

GREEN LEAF GREEN LEAF
i 2 18 & 31 13

SC...VUU SC...UuU

L Ll
4-S1 C
B B:0.2 | E i 4-S1 X 5
\ | B +0.2 E C*o.2
< T TEE —a o
uln wln o L Y T et
b 2 i < [ i ] o] e :05005000000:
| @ l %NN| ' /\ 2
& RO = .
| 7 ik S ‘
4-S2 . D+o.02 = i ' bl
i 4-82 / Dz+o.02
B E# AT FERH%ERT Main dimensions and Mounting dimensions BEH
Basic Load Basic Load
LTI Rating B 5 Rating
Part b
Gty W H|G s2 | ¢ : art Number) W|H|G]|aA Sixe o N T : #
: - [?;ahli
SC8vUU 1010 BN B8 2 2 il 24 5 M4X8 3.4 7.7 154 274 392 27 SC8uUuU 11| 172 34 | 22 | 18 24 5 M4Xx8 3.4 18 30 274 392 52

SCiovuu 13 20 40 26 21 28 6 M5X12 4.3 [9:95 N19:90 572 549 53 SC10uUuU 135 D200 E408 S268 =21 28 6 M5X12 4.3 21 35 372 549 92

6 6
8 8
SC12vuUU 15 21 42 28 24 & 30.5 575 M5X12 4.3 10.45 20.9 510 784 60 SEI2UL 45 2% 42 28 | 24| 8 305575 M5X12 4.3 26 36 510 784 102
8 8
9 9

SC13vuu 15 22 44 30 24.5 33 (8515 M5X12 4.3 10.45 20.9 510 784 64 SC13uU 15 22 44 30 245 338 5.5 M5X12 4.3 26 58 510 784 120
SCisVUU 19 25 50 385 325 36 7 M5X12 4.3 12 24 774 1180 110 SCieuu 1925 50 38:5.32.5 36 7 M5X12 4.3 34 44 774 1180 200
SC20vUuU 21 27 54 41 35 11 40 7 M6X12 5i2 14 28 882 1370 144 SEzouUl - 24|27 84 | dl(FB5 11 400 7 M6X12 5.2 40 50 882 1370 255
SE25MUUL 26 38 76 51.5 42 12, 54 11 M8X18 7 18.9 37.8 980 1570 340 SC25UU 26 38 76 51.5 42 12 54 11 M8X18 7 50 67 980 1570 600
SE30VULNE 30N RS9 FES 595\ B49 8 158 588 F10 M8X18 7 20.65 41.3 1574 2740 424 SE30ULN 30E 398 780|595 (F49°0 158 H58H 10 M8X18 7 58 72 1574 2740 755
SC35VUU 34 45 90 68 54 18 70 10 M8X18 7 22.65 45.3 1670 3140 626 SC35UU 34 45 90 68 54 18 70 10 M8X18 7 60 80 1670 3140 1100
SC40VUU 40 51 102 78 62 20 80 11 M10X25 8.7 28.15 56.3 2160 4020 1000 SE40UY" | 40 [ 51 102 | 78 | 62 | 20 B8O 11 M10X25 8.7 60 90 2160 4020 1590
SC50vUU 52 61 122 102 80 25 100 11 M10X25 8.7 344 68.8 3820 7940 2100 SE50UU 520 61 122 1020 80¢ 25 100 11 M10X25 8.7 80 110 3820 7940 3340

67 www.zjgreenleaf.com www.zjgreenleaf.com G&



#: 2

== B
Part Number

SC8LUU
SC10LuU
SC12LUU
SC13LUU
SCi6LUU
SC20LUU
SC25LUU
SC30LUU
SC35LUU
SC40LUU
SC50LUU

e,

GREE
#

h

1Ll
13
15
15
19
21
26
30
34
40
52

c,

N LEAF GREEN LEAF
51 ¥ 51
SC...LUU TBR...UU
= a1
¢ -
5 /
w
4-51 W : L B+0.2 4-S1 L
S B=x0.2 E C+02 Vo
¢_\". : — 5 D+0.1 | ‘ | C+0.2 |
d: ii Ei 53 H;: i ig: : 00000000000 0000000000 : - + 1 ’
Jd YO (et ] el 1 1t
&%g/ K N — ©————- i —= h - tpit |h
| ] H G L\
o F Deoos || \A-M6x1 - /.@.\

20
21
22
25
27
38
38
45
51
61

40 26 21 7
42 28 24 6.5
40 B30 2405 F01D
50 38.5 32.5 6
54 41 | 35 7
76 51.5 42 4
7801595 S0 8 BN
90 68 54 5.5
102\ 78" 6215
122 =109 S804 N5

69 www.zjgreenleaf.com

ﬂ

\D EEOE 00 HOON O

12
15
18
20
25

5

24

28 6
30.5 5.75
334 05.5
36, 7
40 7
54 11
58 10
70 10
805 11
100 11

.

M4x8
M5X12
M5X12
M5X12
M5X12
M6X12
M8X18
M8X18
M8X18
M10X25
M10X25

4.3
4.3
4.3
4.3
5.2
7
74
7
8.7
8.7

46
50
50
60
70
100
110
120
140
160

FERRFEFERT Main dimensions and Mounting dimensions

178 Fadn 228 TN 3.4 42 58

68
70
Vi)
85
96
130
140
155
175
215

EMEH o
Basic Load
Rating

. BR= in di i i i i EHRE
FERTFZEERT Main dimensions and Mounting dimensions Baéi% Lo—éd

Rating
W G A L : h
Static
a Co N
26 8 42 50 31 30 18

431 784 102 TBR16UU 62 M5 392 490
588 1100 180 TBR20UU 68 31 10 51 54 34 S 21 M6 784 1176
813 1570 250 TBR25UU 82 41 12 65 65 41 50 28 M8 1568 2352
813 | 1570 240 TBR30UU Eht 48 12 75 75 45.5 60 33.5 M8 1764 2940
1230 2350 400

1410 2740 570
1610 3140 1200
2450 5490 1480
2650 6270 2200
3430 8040 3200
6080 15900 6700

www.zjgreenleaf.com

70



e,

GREEN LEAF

#H 5

Part Number

SBR10UU
SBR12UU
SBR13UU
SBR16UU
SBR20UU
SBR25UU
SBR30UU
SBR35UU
SBR40UU
SBR50UU

% 3 6

=
Shaft
Diamter

10
12
13
16
20
25
30
35
40

50

SBR...UU

0.02

h =

20
23
27
33
37
42

53

71 www.zjgreenleaf.com

225
24
30
35
40
45
60

48
60
70
80
90

120

50
65
70
80
90

276
33
39
47
56
63
72

110/ 92

11
14
15
18
20
25

8.5
10
10

115
14
16
19
23

50°

50°
50°
50°

35
40
50
55
65
94

35
40
50
b5
65
80

M6
M6
M8
M8
M10

M10

12
12
12
18
18
20
20

FE AT
Basic Load

88
100
160
170
220
390

140
160
280
320
410
810

65
100
100
150
200
450
630
920

1330
3000

B 5

Part Number

SBR10LUU
SBR12LUU
SBR16LUU
SBR20LUU
SBR25LUU
SBR30LUU
SBR35LUU
SBR40LUU
SBR50LUU

b=
Shaft
Diamter

10
12
16
20
25
30
35
40
50

SBR ... LUU

E+0.02

c,

GREEN LEAF
# 51 #8

15
17
20
23
27
33
37
42
53

18
20
225
24
30
35
40
45

60

36
40

48
60
70
80
90

120

32
39
45
50
65
70
80
90
110

24
276
33
29
47
56
63
72
92

14
15
18
20
25

10
115
14
16
19
23

80°
80°
80°
60°
50°
50°
50°
50°

50°

25
28
32
35
40
50
55
65
94

20
26
30
35
40
50
55
65
80

M5
M5
M5
M6
M6
M8
M8
M10
M10

10
10
12
37
12
18
18
20

20

S
Basic Load

z

Rating

Dynamic

Co N
38
42
52
59
88
100
160
170

220

56
61
80
91
140
160
280
320
410

www.zjgreenleaf.com

65
100
150
200
450
630
920

1330
3000

72



ﬁ | = |
Part Number

SCE8VUU
SCE12VUU
SCE16VUU
SCE20VUU
SCE25VUU
SCE30VUU
SCE40VUU
SCE50VUU

e,

GREE
#

N LEAF

1l 13k

h+0.02

SCE ... VUU
4-S1 \;sz E=
L\i‘. T I
] <UL 11
1o i KC‘D\ o
RERR-
4-82 Doz,

34 22 18
44 30 24.5
50" [38:5! 32,5
ot [ e )
76 51.5 42
78 59.5 49
102 78 62
122 102 80

73 www.zjgreenleaf.com

6 24 9 M4X8

8 B3N (8555 M5X12
9 36 7 M5X12
11 40 7 M6X12
12 24 1 M8X18
150 58|10 M8X18
200 @80 a1 M10X25
258 S1O0)) e151: M10X25

8.7

40.9
48.9
56.4
72.4

HE AT
Basic Load

25
65
100
148
368
500
1000
2205

EHE
Seal Type
SCE10UU
SCE12UU
SCE16UU
SCE20UU
SCE25UU
SCE30UU
SCE40UU
SCES0UU
SCE60UU

H =
Part Number

iz
Shaft
Diameter

10
12
16
20
25
30
40
50
60

SCE...UU

4-S1

e
-
h=+o.02

4-582

102
122

132

110
137

30 245 8
38.5 825 9
41 35 1
51.5 42 12
59.5 49 15
78 62 20
102 80 25
114 94 30

100
108

c,

GREEN LEAF
# 51 #8

c*o0.2

e o i i e [

ik
11
12

Slxe S2
M5x12 4.3
M5x12 4.3
M5x12 4.3
M6x12 512
M8x18 7

M8x18 7

M10x25 8.7
M10x25 8.7

M12x25 10.7

www.zjgreenleaf.com

92
120
200
270
600
776

1590
3340
4800

74



e,

I—
GREEN LEAF
% F1
SCE ...LUU
- E |
© -
N~
4-S1 | i - L
B x0.2 E - C 0.2 .
‘ <I_ i T of s : E
1o 1¥/M\ L : :
SR/ g
Dxooz N \A-M6x1 . :

3 =
Part Number

|

. Seal Type
SCE10LUU
SCE12LUU
SCE16LUU
SCE20LUU
SCE25LUU
SCE30LUU
SCE40LUU
SCES50LUU

L EES
Shaft
Diameter

10

15
19
21
26
30
40
52

75 www.zjgreenleaf.com

22
25
27
38
39
51
61

FERTHEERT Main dimensions and Mounting dimensions

44
50
54
76
78
102
122

2

89

100
136
154
180
230

30
38.5
41
51.5
B35
78
102

24.5
32.5
35
42
49
62
80

8
9
11
12
15
20
25

33
36
40
54
58
80
100

64
79
90
119
132
150
200

n'
13 20 40 68 26 21 8 28 46 6

5.5
7
7

11
10
11
11

-

M5x12
M5x12
M5x12
M6x12
M8x18
M8x18
M10x25
M10x25

52
4.3
4.3
4.3
5.2
7
7
8.7
8.7

180

237
405
510
1220
1580
3180
6990

& =
Part Number

SHF-10
SHE=12
SHF-13
SHF-16
SHF-20
SHF-25
SHF-30
SHE-35
SHF-40
SHF-50

-

SHF

SHF

iz
Shaft
diameter
10
12
13
16
20
25
30
35
40
50

105
122

c,

GREEN LEAF
# 51 #8

*FER< Main dimensions (mm)

1172
12
14

s
Clamping

M5
M5
M5
M5
M6
M6
M8
M10
M10
M12

TR
Mounting
bolt

M4
M4
M4
M4
M5
M5
M6
M8
M10
M12

110
380
510
890

www.zjgreenleaf.com 7



e,

GREEN LEAF
i 2 18

SK

c,

GREEN LEAF
# 51 #8

SBR...C

S 6le

=

I _@_ Wiz EFE R Main dimensions(mm)
: Part Number Dg:r?gter We|g t
| --ﬂ------ S2 d1xd2i
2-T s i i SBR-C10 @10 12.5 ®4.5 5x9x5 0.54
T
© : SBR-C12G ®12 15 22.5 30 17 4 12 47 12 22 ®4.5 5x9x5 0.7
1
i SBR-C12 ©12 16 19 32 13 4 125 47 8.5 22 ©4.5 5x9x5 0.7
; i . SBR-C13 ®13 16 19.5 32 15 - 12:5 4.7 8.5 22 ®4.5 5x9x5 0.72
e SBR-C16 ®16 20 20 40 17.8 5 18.5 8 1l 30 ®5.5 5.5x9.5x5.4 1.0
|
' SBR-C20 20 225 27 45 17.7 2) 19 8 10 30 ®5.5 5.56x9.5%x5.4 1.07
B SBR-C25 25 2 33 55 21 6 21.5 8 12 35 ©6.6 6.6x11x6.5 143
-l
SBR-C30 @30 30 37 60 228 7 26.5 10.3 13 40 ®6.6 6.6x11x6.5 1.9
SBR-C35 ©35 D25 43 65 26.5 8 28 13 15:0 45 P9 9x14x8.6 245
e e it SBR-C40 @40 375 48 75 295 9 38 155 17 55 ®9 9x14x8.6 3125
8 B = Clamping Mounting SBR-C50 ®50 475 62 95 38.8 i 45 20 21 70 ®11 11x17.5%10.8 5.26
Part Number Shaft bolt bolt
diameter designation | designation .
SHEENEEEMRS

SK-8 8 20 21 42 14 328 & 18 |32 /5 5§ M4 M5 24 Support Rail Stand Lengths and Dimensions
SK-10 10 20/ |F21t (420 14 308l e | 18 || 32| 555 M4 M5 24 g
Bait N bat SBR-C10 | SBR-C12 | SBR-C13 | SBR-C16 | SBR-C20 | SBR-C25 | SBR-C30 | SBR-C35 | SBR-C40 | SBR-C50
SK-12 12 22 71 42 14 375 & 20 32 5 &5 M4 M5 30
SK-13 13 2321 #2 | 14| @2kl 6 |28 32 | 5 (55 M4 M5 30 140 140 140 190 340 250 450 460 460 470
T = 55 U5 0aEl e i e e ae el e i i 40 ik 240 240 240 340 640 450 850 660 660 670
Etan({ﬁrlt_j - - - - - - - - 860 870
< en

SK-20 20 31 30 |60 |20 | 51 | 10 =20 45 75 6.6 M5 M6 70 g n 340 84D 610 540 850 1250 860 1060 1070
SK-25 25 35 35 70 24 60 12 38 56 7 6.6 M6 M6 130 440 440 440 940 1240 1250 1450 1060 1260 1270
SK-30 30 42 42 84 28 70 12 44 64 10 9 M6 M8 180 N 20 20 20 20 20 25 25 30 30 35
SK-35 35 50 49 98 32 82 15 50 74 12 11 M8 M10 270 P 100 100 100 150 150 200 200 200 200 200

BAEEMax Length 5000 5000 5000 6000 6000 6000 6000 6000 6000 6000
SK-40 40 60 57 114 36 96 15 60 90 12 11 E; M10 420 ‘

BESAEERE , HUBHLFKEH Exceeds the maximum length need docking , please show the drawing.
SK-50 50 70 63 126 40 120 18 74 100 13 14 M12 M12 750
77 www.zjgreenleaf.com www.zjgreenleaf.com 78



e, 2

GREEN LEAF GREEN LEAF
1% 2 15 & 3 19
E ey
w’
//, _‘\\ d.
/ \ ——
}'. } d\ 4 1 — TN I 1 ' l
S | A & § | W1 S/ a— : g ‘ O ? D@/\—rﬁ
TT [ i =) AL SO T K
= _ /L ,\XJ — —ft ‘ ‘ |‘ If ![ L \’;i :)@BLFTJ‘ 4»]: ?\/ £° 0
e i L‘ [ —=— ) - ol = S il ¢ )
tli g Nt i | J1T. | [ 16— !
7 N m B i I N (@) © \QQ)@ ) i W
T F \ N A 3
S~ B0 =] =1 l
T N e L \\
c \
B \ 4
i,
[ =
b=
4
Es | B S - 7 nn7/ L — 3 S
[ Diameter _-ﬂ-----_ o s g
TBR-C16 16 22.14 14.96 18.71 ®5.5 55x9.5x54 1.1
TBR-C20 ®20 275  29.01 55 19.37 8 18.96 40 ®5.5 55%9.5%54 1.8 B/) P B/2
TBR-C25 ®25 325 3197 65 20.14 10 20 45 D66  6.6x11%6.5 2.05
TBR-C30 ®30 375 3652 75 2245 12 22.96 55 ®6.6  6.6x11%6.5 2.8

SRXENREREMRY
Support Rail Stand Lengths and Dimensions

s

TBR-C16 TBR-C20 TBR-C25

Part Number

TBR-C30

I

190 340 250 450 | :
RERKE 240 640 450 850
Standard 0SG-20 18 55 60 6 1230 12 95 55 60 12 60 38 38 M5 MH 42 700 660 23.03 3341 3547 120
Length L 640 940 850 1250
0sG-25 35 80 30 21 6560 8 2015 14 11 65 80 12 80 51 51 M6 M6 42 1000 1400 62.76 95.2 68 240
940 1240 1250 1450
N 20 20 o5 o5 0sG-30 40 100 36 25 65 60 10 2987 15 11 65 100 165 100 61 61 MB M6 5.2 1800 2100 10598 172.54 14789 520
05G-40 50 130 47 31585 60 12 5216 20 14 9 130 18 130 84 84 M0 M8 6.2 4000 4000 280.64 448 448 113
B 150 150 200 200
mAtEEMax .Length 6000 6000 6000 6000
BEsAKETNE , HUEBELFEA L Exceeds the maximum length need docking , please show the drawing.
79  www.zjgreenleaf.com www.zjgreenleaf.com ()

B

S ([0 | (22

= EE
%ﬁ HAKE (N.m) !(g)




e,

GREEN LEAF
i 2 18

=l =

SGR SGB

. B8

| Ty

15N -3
15N -4 32 38 38 185 6
15N -5
15 -3
15 -4 32 46 46 185 ©
15 5

20N -3
20N -4 36 47 47 225 6
20N -5
20 -3

20 4 36 60 60 225 6
20 -5

25 -3
25 -4 44 69 69 26 7
25 5
3B -3
3% -4 45 00 90 35 85
3B 5

81 www.zjgreenleaf.com

120

120

120

120

120

160

10

12

1.651

1.784

2.247

2.247

3.873

6.442

10

12

9.5

9.5

14

60 |
45 44 12 80 26
100
52
45 46 12 72 32
84
80
55 47 12 103 38
132
72
55 60 12 100 50
116
100
G5 N0 1630 (153 L&
166
140
85 100 18 185 82
230

26

36

30

40

45

62

M5

M5

M6

M6

M8

M10

B
HE
480
700
980
490
700
980
700
1000
1400
700
1000
1400
1260
1800
2520
2800
4000
5600

=100
¥
e
2
1.3
1,14

AN

EZ2NH

7% (N.m)

490
700
980
490
700
980
700
1000
1400
700
1000
1400
1260
1800
2520
2800
4000
5600

460

660
920
4860
660
920
980
1400
1960
980
1400
1960
1470
2100
2940
2800
4000
5600

10.2
14.5
20.3
13.8
19.8
274
294
42
84.2
421
60.2
842
67.62
96.6
135
159.6
228
319.2

92
13.2
37
74
211
443
254
728
129
215
61.6
129
48.51
138.6

9.8
14
39

78

224
47
18.2
52
92.4

15.4
44

924
4158
118.8

291.06 249.48

126
360
758

128
360
756

(aff
m)

110
145
185
1056
140
170
195
265
350
210
280
350
460
615
775
1100
1450
1835

LINZB | H 2R 3h &

LIN Plastic Linear Bearings

GREEN LEAF
& % 1%

www.zjgreenleaf.com




	样册2020.11.17_36
	样册2020.11.17_37
	样册2020.11.17_38
	样册2020.11.17_39
	样册2020.11.17_40
	样册2020.11.17_41
	样册2020.11.17_42
	样册2020.11.17_43
	样册2020.11.17_44

